Homework - Worksheet
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What we've looked at so far...

« Energy changes when the temperature changes
(heating water from 20°C to 50°C) q,

¢ Energy changes when the temperature remains the same.
(melting of ice at 0°C) M

What if you heat 10.0 g of ice at -20.0°C until it is
water at 30.0°C?
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Total Energy Changes

Ex.  Calculate the total energy change if 2.50 g of steam at 112.0°C
is completely converted to ice at 0.0°C.
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Total Energy Changes
Worksheet

1) 182 kJ
2) -31 000 kJ
3) -42.2 kJ

4) 401 kJ
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